Name:: Class: Score :

DE TONG HOP 3 - 2020 Giai chi tiét

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from
the other three in pronunciation in each of the following questions. ( phat am)

Question1 A: A. satellites B. challenges C. approaches D. devices
Loai cdu: Phatam S/ES
Céu dé nho fai khic phuc tinh thée
/S/ |truwécsfes 135 am: /f/, /k/,  /el/, It/ /8]
hoaccac chir: (ph,gh) (k,c, ch) p t th  ex: ClassiC > /'kleesik/ ; aches /eikS/
dé nhe cho S sh ge z
[iz] |wuec es 1a 5am:  /4/  /s/ /Il Is%,3/  /z2/
hoac chir: ch (s, se, ce, Xx) sh ge (z, ze, s, se)
/Z/ Trudc s/es la nguyén am ue oai va cdc phuam rung con lai, ngoai haitrwong hop trén.
S nam giira 2 nguyén am > S doc am /z/. Ngoailé: base /be1s/, practise /'preektis/, promise /'pra:mis/

A. satellites -trudceslachirt (dm/t/) trong cdu fai khic phuc tinh thé > es am /[s/
B. challenges -trudces lachit gtrongciu cho s sh ge z > es am /iz/
C. approaches -trwdces lachltr chtrongcdu cho s sh ge z > es am [iz/
D. devices - ce trong device phat dm la /s/ trudces ladm s trong cdu cho s sh ge z > es am /iz/
Question 2 C: A.peasant /'peznt/ B. measure /'meza(r)/
C.creature /'kri:tfa(r)/ D. pleasure /'pleza(r)/

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the
position of primary stress in each of the following questions. ( dau nhan : 2 am tiét , 3 am tiét)
Question 3 B: Trong d&mtlr 2 4m tiét
A. sur.'vive /sa'vaiv/ B. for.ward /'fa:wad/ C. ob.’serve /ab'z3:v/ D. se.’cure /si'kjua(r)/
- PoOngtlr 2 am tiét thuwdrng nhdn 4m ti€t 2 ; Ngoailé: PTtancung el, ow,y,en,er,le, ish,ise,ard nhana.t1l
- Danh tlr, tinh tlr : thudng nhan am tiét 1.

Question 4 D : Trong am tr 3 4m tiét +
A. ‘im.mi.grant B. ‘mi.ra.cle C. ‘stra.te.gy D. po.’si.tion
-t ¢ dudi -ion nhan dm tiét trudc nd > in.'ven.tion
- tr cod dudi -y, -ude, -ate, -ble, -ist, -ise ,- ize ... thudrng nhan dm tiét 3 dém tir phdi > ‘com.pa.ny , ‘at.ti.tude

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following
guestions. ( 14 cau: mao tur, cach ding thi, lién tir, gidi tir, rat gon cdu, danh dong twr, loai tir, tie vieng ... )
Question 5 C: She started working as childminder when she was at university.
A. an B. the C.a D. @ (no article)
- Loaicidu: Maotlr a/an dirng trwdc tir sé it va dém dworc.
- Gidi thich: danh ttr childminder (ngwei trong tré) 1a danh tir sé it va dém dwoc - dung mao tir "a"

Question 6 A: If he didn’t come to the party, he Sarah.
A. couldn’t meet B. can’t meet C. hadn’t met D. couldn’t have met

- Loaicdu: Caudiéukiénloai 2 ( If + past , would / could + infinitive ).
- Dich: N&u anh dy khéng dén budi tiéc, anh 3y khong thé gip dwoc Sarah.

Question 7 A: Before they came to the party, Jane all the things needed.
A. had prepared B. prepared C. was preparing D. has prepared

- Loai cdu : Thiqua khi& hoan thanh va qua kh& don - cau tric: Before + past, past perfect (xay ra trudc)
- Giai thich : Trong qua kh& hanh déng xay ra trudc > past perfect (had + V3/eq), hanh dong sau - past simple
- Dich: Trudc khi ho dén budi tiéc (past), Jane da chuan bj xong ( xay ra trudc - past perfect) moi thi can.
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Question 8 C: | still enjoyed the week the bad weather.
A. though B. although C. despite mdgcdi (gisitr) D. in spite
Loaicau: Liéntr _ + ménhdé ; Giditw + N/ V-ing.
Giai thich: trudc danh tir ‘bad weather’ phai |a mot gi¢itlr = despite; though / although = lién tir + ménh dé
Dich: T6i van tan hudng/ thich tuan nay mic du thoi tiét xau.

Question 9 A : She walks so fast that | can hardly keep her.
A. up with B. up to C. away from D. off with
Loai cau: k&t hop dongtlr vdi gidi tir - keep up with = bat kip.
Dich: C6 3y di nhanh dé&n nbi tdi khé cé thé bat kip co ta.

Question 10D : for about 4 weeks, we now can perform most of the tasks confidently.
A. Being trained B. Training
C. Having trained D. Having been trained

Loai cdu: RGOt gon 2 ménh dé cé cling chu tir.
Dich: Chung tdi duwoc dao tao trong bén tuan, bay gio ching t6i ¢ thé thuc hién cdng viéc d6 mot cach tu tin.
- Dung V-ing hodc On+cum danh tlr cho ciu chu déng.
- Dung V3-ed cho cau bidong (passive)
- Khi 2 hanh déng trwdc sau rd rang : Having + V3-ed cho ciu chi déng / Having been + V3-ed cho ciu bj dong
Giai thich: Train = D3o tao, khéng thé ty dao tao duwoc, ma phai dwoc dao tao > nghia bi dong + 2 hanh déng
xay ra cidchnhau 4tudn - Having been + V3-ed.

Question 11 D : They have planted a row of trees natural protection from the sun’s ray.
A. that form B. formed C. that is formed D. forming
Loai cdu: RGOt gon 2 ménh dé cé clung chu tir
Giai thich : ciu c6 nghia chu ddng - V-ing
Dich: Ho dd trong mot hang cay tao thanh sy bao vé tw nhién khoi anh ndng mit troi.

Question 12 B: | suggested the matter to the committee.
A. to put B. putting C. being put D. put
Loai cdu: V-ing hodc to + infinitive (d& 1am diéu gi dd)
Dung V-ing sau doéngtlur suggested. Gidi thich: Suggest + V-ing = dé nghi.
Dich: Téi dé nghi dua van dé 1én Qy ban.
Question 13 C: Nowadays, it's become __ common to offer guests the wifi password along with a cup of tea.
A.increased B. increasing C. increasingly D. increase

- Loaicdu: Ti loai (Word form) Gidithich: th&r ty adverb — adjective — noun (trang tir - tinh tir - danh tir)
- common to offer... & trudc tinh tlr ‘common’, phai la 1 adverb (thuong cé dudi -ly)

Question 14 D : His was destroyed when he was caught stealing some money.
A. determination B. figure C. respect D. reputation
Loaicdu: T vung
determination (n): sy xac dinh respect (n): sy kinh trong
figure (n): hinh dang, dang vé reputation (n): uy tin, danh tiéng
Dich: Uy tin cta anh ta bj pha huy khi anh ta bj bat gip &n cap tién.
Question 15 D : The majority of children an effort to save for the future because they worry about debt
they can be in.
A.do B. have C.try D. make
Loai cau: Cum tu Giai thich make an effort = c6 ging, n6 lyc.

Dich: Pa s6 tré em cd gang tiét kiém cho twong lai bdi vi ho lo 18ng vé s6 tién ng ma ho cé thé thiéu.

Question 16 B: He claimed from military service as he was a foreign national.
A. demobilization B. exemption C. liability D. exception
demobilization (n): su gidi ngil exemption (n): sw mién trir
liability (n): trach nhiém phap ly exception (n): ngoai lé

Loai cau: T vyng
Dich: Anh ta doi héi dwge midn nghta vu quan sy vi anh ta la ngudi nwéc ngoai.
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Question 17 C: The most severely affected area was the 19th-century residential and industrial of
inner London — particularly the East End.

A. ring (n) cai dai B. loop (n) dwong vong C. belt (n) vanh dai D. tie (n) ca vat

Loaicau: T vung
Dich: Khu vuc bi anh huwdng nhat 1a khu dan cv va vanh dai cdng nghiép thé ky 19 & ndi 6 London — cu thé khu East End.

Question 18 B : It was such a/an book about environmental problems.
A. weather-beaten (a): hdng nat vi mua gié B. thought-provoking (a): chira nhiéu y hay
C. absent-minded (a) dang tri D. ill-behaved (a): hanh vi xau

Loai cdu: Trvung ; Dich: DS 1a mot cudn sich hay dé cap nhiéu van dé mdi truong.

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined
word(s) in each of the following questions. ( tir déng nghia )

Question 19 C: The icebox became a fixture in most homes and remained so until the mechanized refrigerator
replaced it in the 1920’s and 1930’s.

A. substance B. mechanical device C.commonplace object D. luxury item
Loai cdu : dong nghia Giai thich : fixture = commonplace object: vat phd bién, vat c¢d dinh
A. substance (n): chat B. mechanical device (n): thiét bj co khi
C. commonplace object: vat phd bién D. luxury item (n): vat dat tién

Dich: Thuing lanh d3 trd thanh vat phd bién trong hau hét cac gia dinh va dwoc duy tri cho dén khi td lanh thay thé vao
nhirng nam 1920 va 1930

Question 20 B : The arrival of a great wave of southern and eastern European immigrants at the turn of the
century coincided with and contributed to an enormous expansion of formal schooling.
A. ensured the success of B. happened at the same time as
C. began to grow rapidly D. was influenced by
Loai cdu : Tir d6ng nghia Giai thich : coincided with = happened at the same time as: trung hop vdi, xdy ra cung lic
A. ensured the success of: dam bao su thanh céng
B. happened at the same time as: xay ra cung ltc véi
C. began to grow rapidly: bat dau phat trién nhanh chéng
D. was influenced by: bi anh hudng boi

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the
underlined word(s) in each of the following questions. ( tir trdi nghia )

Question 21 D: She's a bit down in the dumps because she's got to take her exams again.

A. sad B. embarrassed C. confident D. happy
Loai ciu : T trdi nghia ; Gidithich : down inthe dumps: bubn # happy: vuivé

A. sad (a) : bubn B. embarrassed (a) : lung tung

C. confident (a): ty tin D. happy (a) : vui vé

Dich: C6 4y hoi budn bai vi c6 ta phai thi lai.

Question 22 A : With the dawn of space exploration, the notion that atmospheric conditions on Earth may be
unique in the solar system was strengthened.

A. end B. continuation C. expansion D. beginning
Loai ciu : T trdi nghia Giai thich: dawn:batdauldora # end: két thac.

A. end (n): két thuc B. continuation (n): su tiép tuc

C. expansion (n): s mo& rong D. beginning (n): sy bat dau

Mark the letter A, B, C, or D on your answer sheet to indicate the option that best completes each of the

following exchanges. ( 2 cdu giao tiép )

Question 23 C: “l have an idea. Let’s go for a swim on Sunday afternoon”. -
A. You bet! B. | know C. OK, what time? D. I’'m sure

" ”

- " T6i cd y kién. Ching ta hdy di boi vao chiéu chi nhat nay". - "
A. Ban dat cuvgc => khong hop ngilt canh B. T6i biét => khéng hop ngit canh
C. Puoc do! May gio? D. T6i chac chan => khéng hop ngit canh




Question 24 B : Jack and Lala are talking about hiking in the mountain. Jack va Lala dang néi véi nhau vé di leo nui
- Jack: “I think we should set off early.” Jack: “ Téi nghi minh nén khéi hanh som.”
- lLala: “ . Then, we can have more time in the mountain.” Lala: “____ “ R&i ta c6 nhiéu thdi gian trén nui.
A. 1 don’t think so téi khéng nghivay B. | can’t agree with you more téi rit déng y vdi ban
C. Sorry, | missed your point Xin 16i, téi kg hiéu y ban. ~ D. You must be kidding Ban dua a.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word
or phrase that best fits each of the numbered blanks from 25 to 29.
( Bai doc hiéu 1 ¢6 5 cGu: md quan hé, lién tir, tir veng & tir logi )

MENTORING

Many adults in America and increasing numbers elsewhere take part in mentoring schemes. A mentor is an
adult (25) provides support and friendship to a young person. There are numerous different way of
mentoring: passing on skills, sharing experiences, offering guidance. Sometimes the most helpful thing to do is
just listen. Mentoring is open to anybody - no particular (26) experience is required, just a desire to
make a difference to the life of a young person who needs help. This may seem a difficult thing at first, but
many people find they have a real talent for it.

The support of a mentor can (27) an important part in a child's development and can often make up
to a lack of guidance in a young person's life. It can also improve young people's attitudes towards society and
build up their confidence in dealing with life's challenges. For the mentor, it can be incredibly rewarding to know
that they have had a (28) influence on a child and helped to give the best possible chance in life.
(29) , it is not only adults who are capable of taking on this role. There is now an increasing demand for
teenagers to mentor young children, for example by helping them with reading or other schoolwork

(Adapted from "Skillful Reading & Writing 4"by Mike Boyle and Lindsay Warwick)

Question 25: A. whom B. which C. who D. what
Question 26: A. professional B. difficult C. trained D. skilled
Question 27: A. make B. play C.do D. take
Question 28: A. significance B. significantly C. signify D. significant
Question 29: A. However B. Indeed C. Moreover D. Therefore

Question 25 C: Loai cdu - Mé&nh dé quan hé.

A. whom: ngudi nao — thay thé cho ngudi lam tan ngit B. which: cdi ndo - thay thé cho vat
C. who: ai—thay thé cho ngudi lam chi ngit D. what: cai gi
Trudc khoang tréng la tir ‘adult - chinguoi’ va diéng trudc dongtlr ‘provides’ => dung who (nguoi/ chi tir)
Question 26 A : Loai cau tir virng
A. professional (a): chuyén nghiép B. difficult (a): kho khan
C. trained (a): 1anh nghé, dwoc huén luyén D. skilled (a): ¢ k§ ndng
Dich: ... khéng yéu cau kinh nghiém chuy&n mon cu thé, chi mong mudn tao su khac biét cho cudc séng clia mot

ngudi tré tudi can sy giup da.
Question 27 B : Loai cdu tir vieng > Play an important part: déng mét phén quan trong
- make (v): ché tao, san xuat ; -play (v): choi, déng ; -do (v):lam, hanh déng ; -take (v): cam, lay
Dich: Su hé tro cia mot ngudi cb vén cé thé déng mot phdn quan trong trong sw phdt trién cla tré va ciing
thwong c6 thé tao ra sy thiéu hwdng dén trong cudc séng clia mét ngudi tré.

Question 28 D : cau loai tlr > trudc danh tir influence, ta can 1 tinh tir (dudi -ant |a dudi 1 tinh twr)
- Significance (n): sw quan trong, sy ddng ké (dudi - ance |a dudi 1 danh tur)
- Significantly (adv): mét cach cé y nghia, mot cach dang ké ( dudi - ly 13 dudi 1 adverb)
- Signify (v): biéu thi, c6 nghia 13, cé tdm quan trong ( dudi -ify la dudi 1 verb)
- Significant (adj): day y nghta, quan trong, dang ké ( dudi -ant la dudi 1 tinh tlr nhw important)

Question 29 B: Loai cau tir vieng, cach dung lién twr
- However, S+ V:tuynhién ; - Indeed, S + V: that vay, that ra
- Moreover, S+ V; hon nita ; - Therefore, S + V: vi vdy, vi thé
Dich: Thuec ra, khéng chi nguoi I6n mdéi cé khé ndng dém nhdn vai tro ndy. Hién nay nhu cdu ngay cang tdng déi
vdi thanh thiéu nién dé cé van cho tré nhd, vi du bdng cdch giup chiing doc sdch hodc lam viéc & truong khdc.
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Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in
each of the following questions. ( tim li sai tai - vj tri trang tir, déng tir & bi déng, logitir...)

Question 30 A: A body has discovered by the police near the isolated house.
A B C D
A. has discovered B. the C. near D. isolated

- Loai cdu : Cau bj dbng cua thi present perfect Papansai: A Stra : has been discovered.
- Giai thich: M6t thithé dwoc phat hién, Ciu tric bi ddong cla thi present perfect: have / has + been + V3-ed
- Dich: M6t thithé dwoe phat hién bdi canh sat gan cin nha bi céch ly. ( dwore phat hién : thé bj déng )

Question 31 C: Now that we have a baby, we get seldom the chance to go to the cinema.

A B C D
A. that B. have C. get seldom D.togo
- Loaicau: Vitritrangtlr Dapdnsai: C Stra: get seldom > seldom get.

- Giai thich: trang tr tan sut ding trudc dong tir thudng ; dirng sau ‘to be’ hodc giilra trg déng tir va dong tir chinh.
- Dich: Tl ngay ching tdi cé em bé, ching téi it c6 co hoi dé di xem phim.

Question 32 D: | know that if | start watching a soap opera, | immediately become hopelessly addictive.

A B C D
A If B. watching C. hopelessly D. addictive
- Loai cau: T vung Padpansai: D Stra : addicted = nghién

- Dich: T6i biét rang néu t6i bat dau xem v& kich, toi 1ap tirc trd thanh ngwdi nghién trong vo thirc.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is CLOSEST in meaning to
each of the following questions. ( 3 cdu déng nghia - cdu so sdnh, cdu twong thudt, dw dodn qud khir )

Question 33 B: My interview lasted longer than yours. M >Y

A. Your interview was as long as mine. Y=M
B. Your interview was shorter than mine. Y<M
C. Your interview was longer than mine. Y>M
D. Your interview wasn’t as short as mine. Y>M

- Loaicau: Causosanh Sosanhhon: more +tinh tir dai + than ; So sanh bang: as + tinh tir + as

- Dungky hiéu as..as = , not as..as <, less..than < , more..than >

Question 34 A: “Me? No, | didn’t tell lies to Suanna,” said Bob. Bob ndi: "Téi? Khéng, téi khéng néi déi Suanna."
A. Bob denied telling lies to Suanna. Bob phd nhan d3 néi déi Mary.
B. Bob admitted not telling lies to Suanna. Bob thira nhan d3 khdng ndi déi Mary
C. Bob apologize for telling lies to Suanna. Bob xin 16i vé viéc néi d6i Mary
D. Bob refused to tell lies to Suanna. Bob tir chéi d3 néi déi Mary
- Loai cdu : cau twong thuat.
- Phd nhan diéu gi = deny + V-ing

Question 35 B: I'm certain Luisa was on top of the world when his wife gave birth to their first child.
A. Luisa must be on top of the world when his wife gave birth to their first child.
B. Luisa must have been on top of the world when his wife gave birth to their first child.
C. Luisa could have been on top of the world when his wife gave birth to their first child.
D. Luisa may be very on top of the world when his wife gave birth to their first child.
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- Loai ciu : Ciu dy dodn & qua khi¥ ( dong tlr was, gave & thi qua khit) > modal + have + V3-ed
- Certain = chic chan (dy doan dungtrén 90% ) - must + have + V3-ed
- Dich: T6ichic chdn Luisa cadm thady tuyét voi khivg anh ta sinh dtra con dau long.

. must + infinitive > phaila ( dung cho dy doan & hién tai ).

must have +V3/ed - chic chdn |13 ( ding khodng 90 % trong qua khir ).
could have +V3/ed > cé kha nanglam nhung lai khong lam. (50% )

. may + infinitive > ¢ |8 ( dung & hién tai). (50% )

0O w >

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best COMBINES each pair of
sentences in the following questions. ( Ghép 2 cdu thanh 1 cdu twong dwong = cdu wish, cdu ddo ngir )

Question 36: | did not see Peterson off at the railway station. | feel bad about it now.

A. | wish | saw Peterson off at the railway station. = sai thi

B. I regret having seen Peterson off at the railway station. = sai nghia

C. If I saw Peterson off at the railway station, | would regret it now. -> sai nghia

D. If only | had seen Peterson off at the railway station = | wish | had seen Peterson ... (wish = if only)

- Loaicau: Ciu uwdc & quakhr - wish/wishes + past perfect (had + V3-ed) = If only + past perfect
- Dich: Toida khong tién Peterson & nha ga. Bay gi® tdi cdm thay budn vi diéu dé.
= T6i wdc toi da tién Peterson & nha ga. (wish = if only)

Question 37: The workers only stopped the walk-out after a new pay offer.

A. Not until a new pay was offered the workers stopped the walk-out. = Sai: khong ddo déng tir “stop”.

B. A new pay was offered, which made the walk-out stop.

C. The workers stop the walk-out only when a new pay offer.

D. Not until a new pay was offered did the workers stop the walk-out. - Not until d&ng d3u ciu va dao verb.

- Loai cdu: Caudaonglr > Notuntil + ménh dé + ddo ngir + déng tir chinh.
- Dich: Cong nhéan chi dirng cudc dinh céng lai sau khi dugc tang lwong (trd lwong mai).
= Cho dén khi dugc tang lvong, thi cdng nhdn méi dirng cudc biéu tinh.



